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Trapezium Worksheet – 1 

1. A quadrilateral in which one pair of opposite sides are equal then it is known as trapezium. Mark 
True / False. 

a) True       b) False 

2. In a trapezium one pair of opposite sides is parallel. Mark True / False.  

a) True       b) False 

3. In a trapezium two pairs of opposite angles are not supplementary. Mark True / False. 

a) True       b) False 

4. We can call a parallelogram as trapezium. Mark True / False. 

a) True       b) False 

5. Isosceles trapezium’s nonparallel sides are equal. Mark True / False. 

a) True       b) False 

6. Angles on the same base are equal in a trapezium. Mark True / False. 

a) True       b) False 

7. The diagonals of an isosceles trapezium are equal. Mark True / False. 

a) True       b) False 

8. In the below given ABCD trapezium A + B = 180o. Mark True / False. 

 

a) True       b) False 

9. Diagonals of a trapezium should always be equal in length. Mark True / False. 

a) True       b) False 

10. In the below given ABCD isosceles trapezium A = B and C = D. Mark True / False. 

 

a) True       b) False 
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11. All angles of a trapezium are equal. Mark True / False. 

a) True       b) False 

12. Sum of all angles of a trapezium are not equal to 360o. Mark True / False. 

a) True       b) False 

13. Every trapezium is a parallelogram. Mark True / False. 

a) True       b) False 

14. Every rectangle is a trapezium. Mark True / False. 

a) True       b) False 

15. Every trapezium is a rectangle. Mark True / False.   

a) True       b) False 

16. Every square is a trapezium. Mark True / False. 

a) True       b) False 

17. Every rhombus is a trapezium. Mark True / False. 

a) True       b) False 

18. A trapezium diagonals bisects each other. Mark True / False. 

a) True       b) False 

19. A trapezium diagonals are perpendicular to each other. Mark True / False. 

a) True       b) False 

20. In the ABCD trapezium, the measure of D = 120o. Mark True / False.  

 

a) True       b) False 

   


